# Positive Solutions for Second-Order Singular Difference Equation with Nonlinear Boundary Conditions 

Huijuan LI, Alhussein MOHAMED, Chenghua GAO*<br>Department of Mathematics, Northwest Normal University, Gansu 730070, P. R. China


#### Abstract

In this paper, we discuss the existence of positive solutions for the second-order singular difference equation boundary value problem $$
\begin{cases}-\Delta^{2} u(t-1)=\lambda g(t) f(u), & t \in[1, T]_{\mathbb{Z}}, \\ u(0)=0, & \\ \Delta u(T)+c(u(T+1)) u(T+1)=0, & \end{cases}
$$ where $\lambda>0$ is a positive parameter, $f:(0, \infty) \rightarrow \mathbb{R}$ is continuous, and is allowed to be singular at 0 . The existence of positive solutions is established via introducing a new complete continuous operator.


Keywords difference equation; nonlinear boundary conditions; positive solutions
MR(2020) Subject Classification 39A27; 39A12

## 1. Introduction

Due to wide applications in engineering, physics and fluid mechanics, boundary value problems (BVPs) of second-order ordinary differential equations have been studied by many authors [1-6]. In 2013, by using fixed-point theorem in cones, Mohamed and Azmi [7] studied singular second order BVP

$$
\begin{gather*}
-u^{\prime \prime}=\lambda g(t) f(u), \quad t \in(0,1),  \tag{1.1}\\
\alpha u(0)-\beta u^{\prime}(0)=0, \quad \gamma u(1)+\delta u^{\prime}(1)=0 \tag{1.2}
\end{gather*}
$$

under the following assumptions:
$\left(\mathrm{A}_{1}\right) \quad f:(0, \infty) \rightarrow(0, \infty)$ is continuous and $f(u)>0$ for $u>0$;
$\left(\mathrm{A}_{2}\right) \quad g:[0,1] \rightarrow[0, \infty)$ is continuous and $\int_{0}^{1} G(s, s) g(s) \mathrm{d} s<\infty$;
$\left(\mathrm{A}_{3}\right) \quad \alpha, \beta, \gamma, \delta, \lambda>0$.
They established the following result:
Theorem 1.1 Let $\left(A_{1}\right)-\left(A_{3}\right)$ hold and $\lim _{u \rightarrow 0} f(u)=\infty$. If $f_{\infty}=\infty$, then for all sufficiently small $\lambda>0$, (1.1) and (1.2) has two positive solutions, where $f_{\infty}:=\lim _{u \rightarrow \infty} \frac{f(u)}{u}$.

[^0]Note that the existence of positive solutions with linear boundary conditions has been obtained in $[7-10]$, where a unique integral representation of the differential equation with the linear boundary conditions exists. In order to better characterize the safe storage of energetic materials, nuclear waste and even raw garbage, Gordon et al. [11] introduced nonlinear boundary conditions. Subsequently, various interesting results have emerged. For example, Hai and Shivaji [12] discussed the existence of positive solutions for sufficiently small $\lambda$ to (1.1) with nonlinear boundary conditions

$$
\begin{equation*}
u(0)=0, \quad u^{\prime}(1)+c(u(1)) u(1)=0, \tag{1.3}
\end{equation*}
$$

where $c:[0, \infty) \rightarrow(0, \infty)$ is continuous, $g(t)$ could be singular at $t=0$, the nonlinearity $f(u)$ is allowed to be the singular at $u=0$ and extended from nonnegative to $\mathbb{R}$. However, it is difficult to find positive solutions in the singular semi-positive cases due to the lack of maximum principle. We refer the reader to $[3-6,11]$ and the references therein for literature on singular, nonsingular semi-positive. In the above literature, several different methods have been used, such as, variational methods [4], critical point theory [6], lower and upper solution method [11]. The above results are based on differential equations, and there are few results for the case of difference equations.

Inspired by the above works, in this paper, we aim to consider the existence of positive solutions for the second-order difference equation BVP

$$
\begin{gather*}
-\Delta^{2} u(t-1)=\lambda g(t) f(u), \quad t \in[1, T]_{\mathbb{Z}},  \tag{1.4}\\
u(0)=0, \quad \Delta u(T)+c(u(T+1)) u(T+1)=0 \tag{1.5}
\end{gather*}
$$

where $T>1$ is an integer, $\lambda$ is a positive parameter, $[1, T]_{\mathbb{Z}}=\{1,2, \ldots, T\} . \Delta$ is the forward difference operator with $\Delta y(t)=y(t+1)-y(t)$ and $\Delta^{2} y(t)=\Delta(\Delta y(t))$. In order to overcome the difficulty of nonlinear boundary conditions, we define a new completely continuous operator $T_{\lambda}$ such that $u=T_{\lambda} v$, where $u$ satisfies the Sturm-Liouville boundary conditions. Through the Krasnoselskii's fixed-point theory, we establish the fixed-point of $T_{\lambda}$, which is the solution of problems (1.4) and (1.5). Furthermore, some results on linear boundary conditions for secondorder difference Eq. (1.4) can be found in [13-16].

We make the following hypotheses:
(F1) $g:[1, T]_{\mathbb{Z}} \rightarrow(0, \infty)$ with $g>0$ on $[1, T]_{\mathbb{Z}}$;
(F2) $c:[0, \infty) \rightarrow(0, \infty)$ is continuous;
(F3) There exists a constant $0<\gamma<1$ such that $\lim \sup _{u \rightarrow 0^{+}} u^{\gamma}|f(u)|<\infty$;
(F4) $f:(0, \infty) \rightarrow R$ is continuous and $f_{\infty}=\infty$.

## 2. Preliminaries

We first recall the following fixed-point theorem of Krasnoselskii's type.
Lemma 2.1 ([17]) Let $E$ be a Banach space and $T: E \rightarrow E$ a completely continuous operator. Suppose there exist $h \in E, h \neq 0$ and positive constants $r, R$ with $r \neq R$ such that
(a) If $y \in E$ satisfies $y=\theta T y, \theta \in[0,1]$, then $\|y\| \neq r$;
(b) If $y \in E$ satisfies $y=T y+\xi h, \xi \geq 0$, then $\|y\| \neq R$.

Then $T$ has a fixed point $y \in E$ with $\min (r, R)<\|y\|<\max (r, R)$.
In the rest of the article, we let $E=\left\{u \mid u:[0, T+1]_{\mathbb{Z}} \rightarrow \mathbb{R}\right\}$ be equipped with the norm

$$
\|u\|_{E}=\max _{t \in[0, T+1]_{Z}}|u(t)|
$$

then $\left(E,\|\cdot\|_{E}\right)$ is a Banach space. Furthermore, we define $\left(E_{1},\|\cdot\|_{1}\right)$ as a Banach space of $E$ with another norm $\|u\|_{1}=\sum_{t=1}^{T+1}|u(t)|$.

Lemma 2.2 Let $k \in E_{1}$ with $k \geq 0$. Assume that for some constant $\alpha>0$, $u$ satisfies

$$
\begin{cases}\Delta^{2} u(t-1) \leq k(t), & t \in[1, T]_{\mathbb{Z}}  \tag{2.1}\\ u(0) \geq 0, \Delta u(T)+\alpha u(T+1) \geq 0\end{cases}
$$

If $\|u\|_{E}>(T+1)\|k\|_{1}$ and $\|u\|_{E}=|u(\tau)|$, then $u(\tau) \geq 0$ and

$$
\begin{equation*}
u(t) \geq\left(\|u\|_{E}-(T+1)\|k\|_{1}\right) q(t), \quad t \in[1, T]_{\mathbb{Z}} \tag{2.2}
\end{equation*}
$$

where

$$
q(t)=\min \left\{\frac{t}{T+1}, \frac{T+1-t}{T+1}\right\} .
$$

Proof Suppose on the contrary that $u(\tau)<0, \tau \in[1, T+1]_{\mathbb{Z}}$. Then $\|u\|_{E}=-u(\tau)$.
Firstly, we consider the case that $\tau \in[1, T]_{\mathbb{Z}}$. Summing both sides of inequality $\Delta^{2} u(\gamma-1) \leq$ $k(\gamma)$ from $\gamma=t$ to $\gamma=s$, we obtain that

$$
\begin{equation*}
\Delta u(t-1) \geq \Delta u(s)-\sum_{\gamma=t}^{s} k(\gamma) \geq \Delta u(s)-\|k\|_{1} \tag{2.3}
\end{equation*}
$$

Summing (2.3) from $\tau$ to $T$ with respect to $s$, we get

$$
\sum_{s=\tau}^{T} \Delta u(t-1) \geq \sum_{s=\tau}^{T} \Delta u(s)-\sum_{s=\tau}^{T}\|k\|_{1}
$$

which implies that

$$
(T-\tau+1) \Delta u(t-1) \geq u(T+1)-u(\tau)-(T-\tau+1)\|k\|_{1} \geq-(T-\tau+1)\|k\|_{1} .
$$

Therefore, $\Delta u(t-1) \geq-\|k\|_{1}$. For $t \in[1, \tau]_{\mathbb{Z}}$, by summing from $t=1$ to $t=\tau$, we have

$$
u(\tau) \geq u(0)-\tau\|k\|_{1} \geq-\tau\|k\|_{1} \geq-(T+1)\|k\|_{1}
$$

this leads to a contradiction with $\|u\|_{E}>(T+1)\|k\|_{1}$.
Secondly, we consider the case that $\tau=T+1$. From (2.3) with $s=T$, it follows that

$$
\Delta u(t-1) \geq \Delta u(T)-\|k\|_{1}, \quad t \in[1, T+1]_{\mathbb{Z}} .
$$

Summing the above inequality from $t=1$ to $t=T+1$, we have

$$
u(T+1) \geq u(0)+(T+1) \Delta u(T)-(T+1)\|k\|_{1} \geq u(0)-\alpha(T+1) u(T+1)-(T+1)\|k\|_{1}
$$

Therefore,

$$
u(T+1) \geq \frac{-(T+1)\|k\|_{1}}{1+\alpha(T+1)} \geq-(T+1)\|k\|_{1}
$$

a contradiction with $\|u\|_{E}>(T+1)\|k\|_{1}$. Thus $u(\tau) \geq 0$.
Suppose $\tau \in[1, T+1]_{\mathbb{Z}}$. For $t \in[1, \tau]_{\mathbb{Z}}$, by summing (2.3) from $s=t-1$ to $s=\tau-1$, we get

$$
(\tau-t+1) \Delta u(t-1) \geq u(\tau)-u(t-1)-(\tau-t+1)\|k\|_{1}
$$

that is

$$
\Delta u(t-1)+\frac{u(t-1)}{\tau-t+1} \geq \frac{\|u\|_{E}-(\tau-t+1)\|k\|_{1}}{\tau-t+1} \geq \frac{\|u\|_{E}-(T+1)\|k\|_{1}}{\tau-t+1}
$$

Multiplying this inequality by $(\tau-t)^{-1}$, we have

$$
\Delta\left(\frac{u(t-1)}{\tau-t+1}\right) \geq \frac{\|u\|_{E}-(T+1)\|k\|_{1}}{(\tau-t+1)(\tau-t)}
$$

where $t \neq \tau$. Since $u(0) \geq 0$, we infer that

$$
\frac{u(t)}{\tau-t} \geq \frac{u(0)}{\tau}+\sum_{s=1}^{t} \frac{\|u\|_{E}-(T+1)\|k\|_{1}}{(\tau-s+1)(\tau-s)} \geq\left(\|u\|_{E}-(T+1)\|k\|_{1}\right) \frac{t}{(\tau-t) \tau}
$$

i.e.,

$$
\begin{equation*}
u(t) \geq\left(\|u\|_{E}-(T+1)\|k\|_{1}\right) \frac{t}{T+1}, \quad t \in[0, \tau-1]_{\mathbb{Z}} \tag{2.4}
\end{equation*}
$$

In particular, for $t=\tau$, it conspicuously satisfyies (2.4). Hence,

$$
\begin{equation*}
u(t) \geq\left(\|u\|_{E}-(T+1)\|k\|_{1}\right) \frac{t}{T+1}, \quad t \in[1, \tau]_{\mathbb{Z}} \tag{2.5}
\end{equation*}
$$

Next, suppose $t \in[\tau+1, T+1]_{\mathbb{Z}}$. By (2.3) with $s=T$ and boundary conditions $\Delta u(T)+$ $\alpha u(T+1) \geq 0$, we get

$$
\Delta u(t-1) \geq \Delta u(T)-\|k\|_{1} \geq-\alpha u(T+1)-\|k\|_{1} .
$$

Summing the above inequality from $t=\tau+1$ to $t=T+1$, we obtain that

$$
\begin{aligned}
u(T+1) & \geq\|u\|_{E}-\alpha(T-\tau+1) u(T+1)-(T-\tau+1)\|k\|_{1} \\
& \geq\|u\|_{E}-\alpha(T-\tau+1) u(T+1)-(T+1)\|k\|_{1},
\end{aligned}
$$

then

$$
\begin{equation*}
u(T+1) \geq \frac{\|u\|_{E}-(T+1)\|k\|_{1}}{1+\alpha(T-\tau+1)} \tag{2.6}
\end{equation*}
$$

Next, by summing (2.3) from $s=t-1$ to $s=T$, we deduce that

$$
(T-t+2) \Delta u(t-1) \geq u(T+1)-u(t-1)-\sum_{s=t-1}^{T} \sum_{\gamma=t}^{s} k(\gamma)
$$

this implies that

$$
\Delta u(t-1)+\frac{u(t-1)}{T-t+2} \geq \frac{u(T+1)}{T-t+2}-\frac{1}{T-t+2} \sum_{s=t}^{T}(T+1-s) k(s), \quad t \in[\tau+1, T+1]_{\mathbb{Z}}
$$

Multiplying this inequality by $(T-t+1)^{-1}$, we get

$$
\Delta\left(\frac{u(t-1)}{T-t+2}\right) \geq \frac{u(T+1)}{(T-t+2)(T-t+1)}-\frac{1}{(T-t+2)(T-t+1)} \sum_{s=t}^{T}(T+1-s) k(s)
$$

where $t \neq T+1$. Therefore,

$$
\begin{align*}
\frac{u(t)}{T-t+1} \geq & \frac{u(\tau)}{T-\tau+1}+\sum_{s=\tau+1}^{t} \frac{u(T+1)}{(T-s+2)(T-s+1)}- \\
& \sum_{s=\tau+1}^{T} \frac{1}{(T-s+2)(T-s+1)} \sum_{\delta=s}^{T}(T+1-\delta) k(\delta), t \in[\tau+1, T]_{\mathbb{Z}} . \tag{2.7}
\end{align*}
$$

Since

$$
\begin{aligned}
& \sum_{s=\tau+1}^{T} \frac{1}{(T-s+2)(T-s+1)} \sum_{\delta=s}^{T}(T+1-\delta) k(\delta) \\
& \quad=\sum_{z=\tau+1}^{T} \sum_{s=\tau}^{z-1} \frac{1}{(T-s+1)(T-s)}(T+1-z) k(z) \\
& \quad=\sum_{z=\tau+1}^{T} \frac{z-\tau}{T-\tau+1} k(z) \leq \frac{T+1}{T-\tau+1}\|k\|_{1},
\end{aligned}
$$

it follows from (2.6), (2.7) and the fact that $\|u\|_{E} \geq(T+1)\|k\|_{1}$

$$
\begin{aligned}
u(t) & \geq\left(\|u\|_{E}-(T+1)\|k\|_{1}\right)\left(\frac{T-t+1}{T-\tau+1}+\frac{t-\tau}{(T-\tau+1)(1+\alpha(T-\tau+1))}\right) \\
& =\left(\|u\|_{E}-(T+1)\|k\|_{1}\right) \frac{1+\alpha(T-t+1)}{1+\alpha(T-\tau+1)}
\end{aligned}
$$

Since $t>\tau$ and $\frac{1+\alpha(T-t+1)}{1+\alpha(T-\tau+1)} \geq \frac{T+1-t}{T+1-\tau} \geq \frac{T+1-t}{T+1}$, this implies

$$
\begin{equation*}
u(t) \geq\left(\|u\|_{E}-(T+1)\|k\|_{1}\right) \frac{T+1-t}{T+1}, \quad t \in[\tau+1, T]_{\mathbb{Z}} \tag{2.8}
\end{equation*}
$$

Combining (2.5) and (2.8), we deduce that

$$
u(t) \geq\left(\|u\|_{E}-(T+1)\|k\|_{1}\right) \min \left\{\frac{t}{T+1}, \frac{T+1-t}{T+1}\right\}, \quad t \in[1, T]_{\mathbb{Z}}
$$

If $\tau=0$, then (2.8) holds for all $t \in[1, T]_{\mathbb{Z}}$. This completes the proof of Lemma 2.2.

## 3. Main results

In this section, we present and prove our main result.
Theorem 3.1 Let (F1)-(F4) hold. Then there exists a constant $\lambda_{1}>0$ such that for $\lambda<\lambda_{1}$, $B V P_{S}(1.4)$ and (1.5) has a positive solution $u$ with $u \rightarrow \infty$ as $\lambda \rightarrow 0$ on $[1, T]_{\mathbb{Z}}$.

Proof Let $\lambda>0$. For $v \in E$, define $T_{\lambda} v=u$, where $u$ is the solution of the following problem

$$
\begin{cases}-\Delta^{2} u(t-1)=\lambda g(t) f(\tilde{v}), & t \in[1, T]_{\mathbb{Z}}, \\ u(0)=0, & \Delta u(T)+\alpha_{v} u(T+1)=0,\end{cases}
$$

where $\tilde{v}(t)=\max (v(t), q(t)), \alpha_{v}=c(|v(T+1)|)$ and $q(t)$ is defined in Lemma 2.2. Then

$$
u(t)=\lambda \sum_{s=1}^{T} G_{v}(t, s) h(s) f(\tilde{v}), \quad t \in[0, T+1]_{\mathbb{Z}}
$$

where the Green's function $G_{v}(t, s)$ is given by

$$
G_{v}(t, s)=\frac{1}{1+\alpha_{v}(T+1)} \begin{cases}t\left(1+\alpha_{v}(T-s+1)\right), & s>t-1 \\ s\left(1+\alpha_{v}(T-t+1)\right), & s \leq t-1\end{cases}
$$

It is obvious that $T_{\lambda}$ is a completely continuous operator.
Let $a>1$ be such that $f(x)>0$ for $x \geq a$. By using the fact that $\limsup _{u \rightarrow 0^{+}} u^{\gamma}|f(u)|<\infty$, there exists a constant $d>0$ such that $|f(x)| \leq \frac{d}{x^{\gamma}}, x \in(0, a)$. Hence,

$$
\begin{equation*}
f(x) \geq-\frac{d}{x^{\gamma}} \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
f(x) \leq \frac{d}{x^{\gamma}}+\hat{f}(\max (x, a)) \tag{3.2}
\end{equation*}
$$

for all $x>0$, where $\hat{f}(t)=\sup _{a \leq x \leq t} f(x)$ for $t \geq a$. Note that $\hat{f}$ is nondecreasing.
(a) There exists $r>0$ such that if $u \in E$ satisfies $u=\theta T_{\lambda} u, \theta \in[0,1]$, then $\|u\|_{E} \neq r$.

In fact, let $u \in E$ satisfy $u=\theta T_{\lambda} u, \theta \in[0,1]$. Then $u$ satisfies

$$
u(t)=\lambda \theta \sum_{s=1}^{T} G_{u}(t, s) g(s) f(\tilde{u}), t \in[0, T+1]_{\mathbb{Z}}
$$

By Lemma 2.2, $q(s) \leq 1, s \in[1, T]_{\mathbb{Z}}$ and $a>1$, we have

$$
\begin{aligned}
|f(\tilde{u}(s))| & \leq \frac{d}{\tilde{u}^{\gamma}(s)}+\hat{f}(\max (\tilde{u}(s), a)) \leq \frac{d}{q^{\gamma}(s)}+\hat{f}(\max (\max (u(s), q(s)), a)) \\
& \leq \frac{d}{q^{\gamma}(s)}+\hat{f}(\max (u(s), a))
\end{aligned}
$$

Suppose $\lambda<\frac{a}{2\left(c_{1}+c_{2} f(a)\right)}$, where $c_{1}=(T+1) d \sum_{s=1}^{T} \frac{g(s)}{q^{\gamma}(s)}$ and $c_{2}=(T+1) \sum_{s=1}^{T} g(s)$. Since $G(t, s) \leq T+1$ and $\theta \leq 1$, it follows that

$$
\begin{aligned}
|u(t)| & \leq \lambda\left|\sum_{s=1}^{T} G_{u}(t, s) g(s) f(\tilde{u})\right| \\
& \leq \lambda\left(d(T+1) \sum_{s=1}^{T} \frac{g(s)}{q^{\gamma}(s)}+\hat{f}\left(\max \left(\|u\|_{E}, a\right)\right)(T+1) \sum_{s=1}^{T} g(s)\right) \\
& =\lambda\left(c_{1}+c_{2} \hat{f}\left(\max \left(\|u\|_{E}, a\right)\right)\right), \quad t \in[0, T+1]_{\mathbb{Z}},
\end{aligned}
$$

which implies

$$
\begin{equation*}
\frac{\|u\|_{E}}{c_{1}+c_{2} \hat{f}\left(\max \left(\|u\|_{E}, a\right)\right)} \leq \lambda . \tag{3.3}
\end{equation*}
$$

Since $\frac{a}{c_{1}+c_{2} \hat{f}(a)}=\frac{a}{c_{1}+c_{2} f(a)}>2 \lambda$ and $\lim _{x \rightarrow \infty} \frac{x}{c_{1}+c_{2} \hat{f}(x)}=0$ by $\left(\mathrm{F}_{4}\right)$, there exists a constant $r>a$ such that

$$
\begin{equation*}
\frac{r}{c_{1}+c_{2} \hat{f}(r)}=2 \lambda . \tag{3.4}
\end{equation*}
$$

By (3.3) and (3.4), we deduce that $\|u\|_{E} \neq r$. Note that $r \rightarrow \infty$ as $\lambda \rightarrow 0$.
(b) There exists $R>r$ such that if $u=T_{\lambda} u+\xi, \xi \geq 0$, then $\|u\|_{E} \neq R$.

Let $u \in E$ with $u=T_{\lambda} u+\xi$ for some $\xi \geq 0$. Then $u-\xi=T_{\lambda} u$ and so

$$
u(t)-\xi=\lambda \sum_{s=1}^{T} G_{u}(t, s) h(s) f(\tilde{u})
$$

Let $k(t)=\frac{d g(t)}{q^{\gamma}(t)}, t \in[1, T]_{\mathbb{Z}} . u$ satisfies

$$
\begin{cases}-\Delta^{2} u(t-1)=\lambda g(t) f(\tilde{v}), & t \in[1, T]_{\mathbb{Z}} \\ u(0)=\xi \geq 0 \\ \Delta u(T)+\alpha_{v} u(T+1)=\alpha_{v} \xi \geq 0 & \end{cases}
$$

and

$$
g(t) f(\tilde{v}(t)) \geq-\frac{d g(t)}{\tilde{v}^{\gamma}(t)} \geq-\frac{d g(t)}{q^{\gamma}(t)}=-k(t) .
$$

Suppose $\|u\|_{E}>\max \left(3(T+1)\|k\|_{1}, 6\right)$, it follows from Lemma 2.2 that

$$
u(t) \geq\left(\|u\|_{E}-(T+1)\|k\|_{1}\right) q(t) \geq \frac{2}{3}\|u\|_{E} q(t) \geq \frac{\|u\|_{E}}{6}
$$

for $t \in \Gamma=\left[\frac{T+1}{4}, \frac{3(T+1)}{4}\right]_{\mathbb{Z}}$. Since

$$
G_{u}(t, s) \geq \frac{(T+1)\left(4+\alpha_{v}(T+1)\right)}{16\left(1+\alpha_{v}(T+1)\right)} \geq \frac{T+1}{16}, \quad s, t \in \Gamma
$$

we deduce that

$$
\begin{aligned}
u(t) & \geq \lambda\left(\sum_{\Gamma} G_{u}(t, s) g(s) f(\tilde{u}(s))+\sum_{\Gamma^{c}} G_{u}(t, s) g(s) f(\tilde{u}(s))\right) \\
& \geq \lambda\left(\frac{T+1}{16} \check{f}\left(\frac{\|u\|_{E}}{6}\right) \sum_{\Gamma} g(s)-(T+1)\|k\|_{1}\right)
\end{aligned}
$$

where $\check{f}(t)=\inf _{z \geq t} f(z)$. Consequently,

$$
\frac{\frac{T+1}{16} \check{f}\left(\frac{\|u\|_{E}}{6}\right) \sum_{\Gamma} g(s)-(T+1)\|k\|_{1}}{\|u\|_{E}} \leq \frac{1}{\lambda}
$$

Since $\lim _{u \rightarrow \infty} \frac{f(u)}{u}=\infty$, it follows that the left side of this inequality goes to $\infty$ as $\|u\|_{E} \rightarrow \infty$. Then $\|u\|_{E}<R$ for $R \gg 1$.

Hence, by Lemma 2.2, $T_{\lambda}$ has a fixed point $u$ with $\|u\|_{E}>r$. Since (2.2) holds and $r \rightarrow \infty$ as $\lambda \rightarrow 0$, it implies that $u$ is a positive solution of (1.4) and (1.5) if $\lambda$ is sufficiently small and $u(t) \rightarrow \infty$ as $\lambda \rightarrow 0$.

Example 3.2 Let $g(t)=t^{-\frac{3}{10}}, f(u)=9 u^{-\frac{1}{2}}+e^{u}, c(u)=\left(u^{2}+3\right) \ln (2+u)$. It is easy to verify that the hypotheses of Theorem 3.1 hold. Therefore, BVPs (1.4) and (1.5) has a positive solution $u$ with $u \rightarrow \infty$ as $\lambda \rightarrow 0^{+}$on $[1, T]_{\mathbb{Z}}$.

Acknowledgements We thank the referees for their time and comments.

## References

[1] M. ASADUZZAMAN, M. Z. ALI. Existence of triple positive solutions for nonlinear second order arbitrary two-point boundary value problems. Malays. J. Math. Sci., 2020, 14(3): 335-349.
[2] Zhongyang MING, Guowei ZHANG, Juan ZHANG. Existence of nontrivial solutions for a nonlinear second order periodic boundary value problem with derivative term. J. Fixed Point Theory Appl., 2020, 22(3): 1-13.
[3] R. P. AGARWAL, D. O'REGAN. Semipositone Dirichlet boundary value problems with singular dependent nonlinearities. Houston J. Math., 2004, 30(1): 287-308.
[4] R. DHANYA, Q. MORRIS, R. SHIVAJI. Existence of positive radial solutions for superlinear, semipositone problems on the exterior of a ball. J. Math. Anal. Appl., 2016, 434(2): 1533-1548.
[5] D. D. HAI, A. MUTHUNAYAKE, R. SHIVAJI. A uniqueness result for a class of infinite semipositone problems with nonlinear boundary conditions. Positivity, 2021, 25(4): 1357-1371.
[6] R. DHANYA, R. SHIVAJI, B. SON. A three solution theorem for a singular differential equation with nonlinear boundary conditions. Topol. Methods Nonlinear Anal., 2019, 54(2): 445-457.
[7] M. MOHAMED, W. A. W. AZMI. Positive solutions to a singular second order boundary value problem. Int. J. Math. Anal., 2013, 7(41-44): 2005-2017.
[8] Yan SUN, Lishan LIU, Jizhou ZHANG, et al. Positive solutions of singular three-point boundary value problems for second-order differential equations. J. Comput. Appl. Math., 2009, 230(2): 738-750.
[9] Yongfang WEI, Zhanbing BAI, Sujing SUN. On positive solutions for some second-order three-point boundary value problems with convection term. J. Inequal. Appl., 2019, Paper No. 72, 11 pp.
[10] Luyao XIN, Yingxin GUO, Jingdong ZHAO. Nontrivial solutions of second-order nonlinear boundary value problems. Appl. Math. E-Notes, 2019, 19(1): 668-674.
[11] P. V. GORDON, E. KO, R. SHIVAJI. Multiplicity and uniqueness of positive solutions for elliptic equations with nonlinear boundary conditions arising in a theory of thermal explosion. Nonlinear Anal. Real World Appl., 2014, 15(1): 51-57.
[12] D. D. HAI, R. SHIVAJI. Positive radial solutions for a class of singular superlinear problems on the exterior of a ball with nonlinear boundary conditions. J. Math. Anal. Appl., 2017, 456(2): 872-881.
[13] Man XU, Ruyun MA. Positive solutions for some discrete semipositone problems via bifurcation theory. Adv. Difference Equ., 2020, Paper No. 66, 16 pp.
[14] Chenghua GAO, Guowei DAI, Ruyun MA. Existence of positive solutions to discrete second-order boundary value problems with indefinite weight. Adv. Difference Equ., 2012, 2012 (3): 1-10.
[15] Xiaojie LIN, Wenbin LIU. Positive solutions to a second-order discrete boundary value problem. Discrete Dyn. Nat. Soc. 2011, Art. ID 596437, 8 pp.
[16] Ruyun MA, Y. N. RAFFOUL. Positive solutions of three-point nonlinear discrete second order boundary value problem. J. Difference Equ. Appl., 2004, 10(2): 129-138.
[17] H. AMANN. Fixed point equations and nonlinear eigenvalue problems in ordered Banach spaces. SIAM Rev., 1976, 18(4): 620-709.


[^0]:    Received February 28, 2022; Accepted August 19, 2022
    Supported by the National Natural Science Foundation of China (Grant No. 11961060).

    * Corresponding author

    E-mail address: gaokuguo@163.com (Chenghua GAO)

